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D - Hearthstone Battleground
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/*

#pragma GCC optimize(2)

#pragma GCC optimize(3,"Ofast","inline")

*/

#include<bits/stdc++.h>

#define ALL(x) (x).begin(), (x).end()

#define 11 long long

#define db double

#define ull unsigned long long

#define pii pair<int,int>

#define mp_ make pair

#define pb push back

#define fi first

#define se second

#define rep(i,a,b) for(int i=(a);i<=(b);i++)
#define per(i,a,b) for(int i=(a);i>=(b);i--)
#define showl(a) cout<<#a<<" = "<<a<<endl
#define show2(a,b) cout<<#a<<" = "<<a<<"; "<<#b<<" = "<<b<<endl
using namespace std;

const 1l INF = 1LL<<60;

const int inf = 1<<30;

const int maxn = 2e5+5;

inline void fastio ios::sync with stdio(false);cin.tie(0);cout.tie(0);

int al[5],b[5];
void actl
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b b --,b ++,a ++,a --3
b b --,a ++,a -
b b --,b ++,a ++,a --;
b b --,b ++,a ++,a --;
void act2
b b[3]--,b[0]++,a[2]--,a[4]++;
b b --,a --,aldl++;
b b --,bi31++,a --,aldl++;
b b --,b ++,a --,a ++;
void act4
b b --,b[0]++,a --,
b b --,a --;
b b[1]--,b[3]++,a[4]--;
b b --,b ++,a --
void act3
b b[3]--,a[0]++,b[0]++,a[3]--;
b b --,a ++,a --;
b b --,b ++,a ++,a --
b b --,b ++,a ++,a --;
void actO
b b --,b ++,a --;
b b --,b ++,a --;
bool win
int aa = a + a + a + a ;
int bb = b + b + b + b ;
bb==
aa>0 || al0l=b ;
int main
fastiol();
int ;
cin>> ; ; --
memset(a,0,sizeof(a));
memset(b,0,sizeof(b));
rep(i, 1, cin>>alil;
rep(i,1,4) cin>>b[i];
a +a +a +a & b +b +b +b
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al3
b[O] = 0;
act3();acto();
1
b[O0] = 0;
actl();
ald
b[O] = 0;
actd();
2
b[O0] = 0;
act2();

//rep(i,0,4) showl(a[i]);
//rep(i,0,4) showl(b[i]);

win cout<<"Yes"<<endl;

cout<<"No"<<endl;

0;

E - Game
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#include <bits/stdc++.h>
using namespace std
const int N le5+5
typedef long long 11

int alN/,n

11 sum/[N
bool check(int hei
1l rem 0]

int 1 n;i 1;1
alil>hei)rem+=alil-hei

alil<hei)rem=max (011, rem-hei+ali

rem 0 rem 11) hei
true
int main
int cas
scanf("%d",6 &cas
cas

scanf("%d",&n

false
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int i i<= n;i

scanf("%d",fali

sum|i sum|i ali
int 1 r 1e9
l<r
int mid l+r
check(mid) )r mid
1 mid

printf("%sd\n",1

J - Identical Trees
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#include <bits/stdc++.h>
using namespace std
const int N

int pri[N], pcnt

bool visp

int fIN/IN!,n

void initprime

int i pcnt i
vispli]) pril[++pcnt i
int j i%j le5;j
vispli*j true

struct Edge
int nxt,to

struct Tree
int head[N], tot
Edge e(N
void init
memset (head sizeof (head
tot
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void add(int x,int y
e|[++tot].nxt head| x| ;head|x tot;eltot!.to = vy
el[++tot].nxt head|y ! ; head|y tot;eltot]|.to = x

unsigned int thash[N
int size[N],thei[N], falN
void dfs(int x,int f

falx f
thash|[x
thei|x
sizelx
int 1 head[x];i;i=e[i].nxt elil.to!=falx
dfs(eli].to,x
thei[x max (thei[x],theile[i].to
thash|x thashle[i].to]"prilsizeleli].to

size|x sizeleli].to

tl,t2
bool cmp(const int &a,const int &b
tl.theila tl.theilb

int id/[N
struct Max Flow
int
head [N last/[N pre/N vis|N dis|N flow/N s, t,tot

struct edge {int u,v,w,c,nxt; es
void addedge(int u,int v,int w,int ¢

es|++tot edge){u,v,w,c,headlu
head|u tot

void add(int u,int v,int w,int c addedge(u,v,w,c);addedge(v,u C
void init(int mx
int i i mx+1;i++)head|i
tot
S t mx

bool spfa(int mx
int i i<= mx+1;i++)dis[1i flow|i Ox3f3f3f3f,vis|1i

gueue<int> qg;qg.push(s

vis|s dis|s prelt
g.empty
int u g.front g.pop
vis|u

int i=head[u];~i;i=es[i].nxt
int v es[i].v,w es|i].w,cC es|il.c
w dis|v dis|u C
dis|v dislu C
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prelv u

last|v

flowlv
vis|v
vis|v

i
min(flowlul ,w

g.push(v

~prelt

pair<int,int> MCMF(int mx

pair<int,int> res make pair
spfa(mx
int now = t
res.first flow|t
res.second flow|t dis|t
now S
es/lastinow]|.w flow|t
es|last/now W flow|t
now = prelnow
res
mcmf
void calc(int x,int y
vector<int>sonx, sony
sonx.clear sony.clear
int i tl.head[x];1i;i=tl.e[i].nxt tl.e[i].to!=tl.falx
sonx.push back(tl.e[i].to
int i t2.head[y];i;i=t2.e[i].nxt t2.e[i].to!=t2.faly
sony.push back(t2.e[i].to
mcmf.init(sonx.size sony.size
int 1 i sonx.size i
int j j sony.size();]j
int sx sonx|i], sy sony| j
flsx!|[sy
mcmf.add (1 J sonx.size flisx|lsy
int i i sonx.size i mcmf . add i
int i i sony.size i
mcmf.add (i sonx.size sonx.size sony.size
fixlly X! =y mcmf .MCMF (sonx.size()+sony.size .second
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int main
int X
scanf("%sd", &n
tl.init
t2.init
initprime
int rootl root2
int i i n;i
scanf("%sd", &x
X tl.add(x,1i
rootl i

int i i n;i
scanf("s%sd", &x
X t2.add(x, 1
root2 i
id[i i

tl.dfs(rootl
t2.dfs(root2
sort(id id+n cmp

int i i<= n;1i
int j ] n;j
tl.theili
flill] i
flil[]
int i i<= n;i

int x = id[1
tl.theilx
int j j
inty = j

t2.theily

calc(x,y

printf("%sd\n", f[rootl||root2
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t2.theilj

tl.theilx

tl.thash|x t2.thash|y
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